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= (A) x| Hel4e  AulHS elAulEg gy
(B) ) A/(B+C) A/B PR
M2m 17,612,365 65,796,255 9,796,629 233 268 75 124
cHEA \ 1,113,199 1,463,807 \ 477,844 57.3 760 8 15
CEXY 280,402 797,000 97,148 314 %2 O O
Nk 832,797 666,807 380,696 795 1249 8 15
NEE: \ 448 448 472,352 \ 203,400 66.4 949 0 4
ZHA| 93,061 139,162 39,578 52.1 669 O O
UZA| 88,450 134,420 36,760 51.7 658 O O
LE2A| 83,467 89,730 21,308 75.2 930 O O
S5 Al 41,951 36,646 16,264 793 1145 O X
SELDN 45,771 17,786 38,955 80.7 2573 O X
LA 37,855 30,330 8,968 9.3 1248 O X
INEIN 57,893 24278 | 41,567 87.9 2385 O X
e 384,349 194 455 177,296 103.4 1977 8 11
M 43,383 38,662 16,008 79.4 1122 O X
EMT 37,441 19,850 11,656 118.8 1886 X X
delz 35,753 13,183 32,138 789 M2 O X
AT 35,731 24,122 10,195 104.1 1481 X X
YT 37,251 30,997 44,086 49.6 1202 O X
ML 36,640 15,624 10,304 141.3 2345 x X
S 2 34,609 8,518 9,509 192.0 4063 x X
L 29,378 7,745 10,083 164.8 3793 X X
olx| 2 31,510 11,516 9,488 150.0 2736 x X
oMz 30,125 11,936 12,399 1238 2524 X X
oformt 32,528 12,302 11,430 137.1 2644 X X






